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#c7| Sequence

%.&'s;%‘iﬁ;flj Understand sequences
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Definition: A number sequence is a pattern of numbers arranged in a particular
order according to a rule.

Each individual number, or element, of a sequence is called a term.
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1 11:00
2 12 : 00
3 13200
4 14 : 00
5 15 : 00
6 16 : 00
7 21: 00
8 22100
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< The right table(+ #) is the schedule of Bus F216. The departure time of the
North third gate of Taipei station is 11, 12, 13, 14, 15, 16, 21 and 22 o'clock.
<~ Numbers arranged in a row like this and separated by commas(:&-5%) are
called sequences.
<> Here are some number sequences.
2,4.,6,8, ...
100, 400, 1600, 6400,...
1,4,9,16,25,...
3,7,10,12, 13, ...
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In the above sequence: 11 is called the first term of this sequence, which is usually

recorded as ai.
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< You can also use the notation a, to denote the nth term of a sequence, where n
is a positive integer.
< 4ri® La, T:Howtosay an: asubscriptnorasubn
<> Remember that n, the term number, will always be a whole number.
We could not have a 0.25th term, or a %th term.
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A #c3)2,4,6,8, 10,12, 14¥¢

< - B E_g 7E? T. Which one is the first term?

< 64 % %3E? T:Whichtermis 6? & 6 is the term? S: Third

< e R#E R 3 38?7 T: How many terms are there in this sequence?

< w4y A1/R T A = 58 T Please find/write down the first three terms in this
sequence.

Y
| 1,4,7,10,13,16 ¢ -
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1= 1 »%2F ax= 4 > % 3Faz= 7 >
$ 417 au=_ 10 > %57 as=_ 13 > % 63 as=_16 o
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In the sequence 1, 4, 7, 10, 13, and 16,

The first term a; = 1, the second term a, = 4, the third term a3 = 7,

the fourth term a4 = 10, the fifth term as = 13,and the sixth term as = 16.

FARE
BT A E*ﬁ _ﬁ_ﬁ_iﬂ,ﬁi o Bdr :

T b
The sequence may have some mathematical patterns. For example,
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We can use patterns to... / Patterns can help us...

make predictions( g ;¢ )about the future and calculate how long it will take for

an investment to double in value.
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135,137, 139, 141, ...... ,
TOUF R BRI R APARA IE P 0 (- B - e 20
135 , 137 , 139 , 141 , ...
+2 42 +2 +2
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The address numbers of the shops on the street are as follows:

135, 137, 139, 141, ...... ’

It can be found that the rule of this sequence is: among the two adjacent terms, the
latter term is equal to the previous term plus 2.

*#8 i enadjacent  /o'dzer.sont/
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It is known that each of the following series implies a certain pattern.
Please fill in the appropriate number in the space according to its pattern.

(1) 10, 18, 26, , 42,50 (2)2,4,8, 32,64
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It is known that each of the following series implies a certain pattern.
Please fill in the appropriate number in the space according to its pattern.
*i§ % = appropriate /o'prov.pri.ot/
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For some regular sequences, the nth term a, can be expressed by the formula

containing the unknown n. For example:

(1) 4L B 4o i 5 0 A dicoh

B ATA) B O Ao T L <k <k <k <k
a-l a2 a3 ...... an
trit 11 1 f
1234 1 > 3 o
T b
The sequence formed by the reciprocal of consecutive positive integers starting
from 1 is as follows: }l 1 E ......
3 4
* 3|4 reciprocal /r1'sip.ra.kal/
*:g 4 =9 consecutive /kon'sek.ja.tiv/
* it # #c positive integers
R
Q) MR PR EE BEST T T g n g
A5 NEF 4T
al a2 a3 ...... an
2,4,6,8,......
2 4 6 2n
2x1 2% 2 2% 3 2%n
T b

The sequence formed by consecutive positive even numbers starting from 2 is as
follows: 2, 4,6, 8,......

* 1% #c even numbers
*2 #c odd numbers

foapsp B g REgder] o Aok L BN F n Fendom N ifu? DESEIEA 3
ER - o P H(2) ¢ 0 % nIE an=2nF 5 2 B eh- I o
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Definition: If we can write the expression of the nth term in a regular sequence like

this, we can find any term of the sequence. In the above example (2), the nth term
an=2n is called the general term of the sequence.
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< 4de@ 35 4 - 438 T: How to find the general term?
< - 438 i @? T: What is the general term?
< F BT & BdEs| - 58 T Write a general term of the sequence.
< EERNLE D E A? T What did you observe/notice?
> BRER- 43 12,4,6,8,......
T: You can notice that the value of each term is two times n.
< B%- 4 8,11, 14, 17, 20, 23, 26,......

T: You can notice that the value of each term is three bigger than the value of
the previous term.

FE F£% 1007 a0’ & L an=2ne8F ¢ > n 2 100 o~ TR fF
A100=2x100=200 -

T b

If we are asked to find aioo, as long as n is substituted with 100 in the formula an=
2n.

A100=2x100=200

*% .. %4 substitute /'sab.sta.tu:t/

¥ nsg

SR B eh% nIE an=n (n+1) (n+2)>
(1) etz ehm 37 o

(2) Kp#cr ey 10 5 o

(B) Fr#cs|eny kg 5 336 Fko

T b

Find nth term

Given the nth term of a sequence, an=n (n+1) (n+2) .
(1) Find the first three terms of this sequence.

(2) Find the 10" term of this sequence.

(3) If the kth term of this sequence is 336, find k.
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